B cwm2v
i auto sitch [ D)LY

Smooth Cylinder

Series CM2Y

020, 025, 032, 340

With auto switch
(Built-in magnet)

Mounting style e————

How to Order

@0 -i50-[ ]

Basic style .
E Axial foot ityle Bore size

" 20 | 20 mm
7 Rod side flange style 25 | 25 mm
G Head side flange style 51 52 mm
C Single clevis style
D Double clevis style 0] 40 mm
1] Rod side trunnion style
T Head side trunnion style Thread type
E Integral clevis style Nil Rc
BZ Boss-cut basic style TN NPT
FZ | Boss-cut rod side flange style TF G
UZ | Boss-cut rod side trunnion style

40| —|1_§0|—|M9BW| -

Number of
auto switches

Nil
S
n

2 pcs.
1 pc.
n pcs.

Auto switch
[ Nit_T without auto switch |

«For the applicable auto switch
model, refer to the table below.

Cylinder stroke (mm)
Refer to "Standard Stroke"
on page 1190.

Made to Order
For details, refer to
page 1190.

Auto switch mounting
bracket N

Note) This symbol is indi-
cated when the D-A9C]

or

Mol type auto

switch is specified.

This mounting bracket
does not apply to other
auto switches (D-C7(]

and

H70], etc.) (Nil)

Built-in Magnet Cylinder Model

If a built-in magnet cylinder without an auto
switch is required, there is no need to enter
the symbol for the auto switch.

(Example) CDM2YB20-100

Applicable Auto Switches/Refer to pages 1893 to 2007 for further information on auto switches.

. =3 - Load voltage Auto switch model Lead wire length (m) -
W) Spemel rEiem Elzittrrlx'/:al ] (‘3’$SSK) e AC  |Perpendicularl Indine | O:3| 18| 5 None :;::’e:;: apaiczblelioet
g (NiD) | (M)] (L) | (Z) | (N)
3-wire (NPN) MINV M9ON ® —|® O0O|—| O -
Grommet | [ 3-wire (PNP) 5V.12v M9PV MOP e | —|e|0|—| o |Coiu
5 . M9BV M9B e —|e[O|—]| O
I3 E— - —
z Connector 2-wire 2v = H7C o —|elele[ —
g Terminal 3-wire (NPN) 5V, 12V — G39A e el Bl — |IC circuit
€ conduit 2-wire 12V — K39A — == |—|®] — — Relay
© o Yes| 3-wire (NPN) | 24 V — MONWV MONW | @ [e|@|O|—| O - :
£ [’(‘S‘%T,Tiﬁ'fn‘d??;?fﬁﬁ” 3-wire (PNP) 5v.12v MOPWV | M9PW | ® (@ |e | o —| o |Cciul PLC
3 2-wire 12V M9BWV MOBW e e[@e/O[—] O —
k-] n ko Skokk
= . Grommet 3-wire (NPN) MONAV MONA Oj|O|@[O|—| O L
3 (Zv‘éi‘)“z’r ::z';:“':;n) 3-wire (PNP) 5V, 12V M9PAV O [o[e[o[=] o |Cecirut
2-wire 12V M9BAV***| M9BA™™ | O [O[@[O|—] © —
Wi diagnostic ouput (2-color ndicaton) 4-wire(NPN) 5V, 12V — H7NF @ | —[®@|O|—]| O [iCcircuit
| e (PN equivlen 5V — A96V A9 ® |—|® —|—| — |Ccircuitf —
| 100 V A93V A9 e — oo —| —
S Grommet |No| ypy [00Vorless| A9OV A9 ® —[®|—[—| — [Ccircuit
-‘g [Yes| 100V, 200 V — B54 e —|eo |0 — Relay,
g No 200 V or less — B64 e | —[®o|—[—[ — — PLC
2 [Yes| ) — = C73C_| e |—[e[e @[ —
3 Connector |jy| ~ 2-wire 24V 24Vorless|  — csC_| e o/e 0| — |Caraut
3 Terminal 12V — = A33A | — [—|—|— — PLC
(-4 conduit — A34A — = |=|—]®] —
DIN terminal| 100V, 200V — A44A — | —[=[—Te] — - F{:\Laoy,
Diagnostic indicaton (2-olorindication) | Grommet — — — B59W e | — e | — | —| —

«#+ Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.

Consult with SMC regarding water resistant types with the above model numbers.
# Lead wire length symbols: 0.5 m --

im
3m
5m
None

)
L (Example)
Z (Example) MONWZ
N (Example) H7CN

Nil (Example) MONW

# O: Manufactured upon receipt of order.
M (Example) MONWM = Do not add the suffix (N) indicating “no lead wire” to the part numbers of models D-A30A,

MONWL  A44A, G39A and K39A.

* In addition to the models in the above table, there are some other auto switches that are applicable. For more information, refer to page 1202.
= Refer to pages 1960 and 1961 for details of auto switches with a pre-wired connector.

= D-A90](V)/MOLI(V)/MOCIW(V)/MILIA(V) auto switches are shipped together (not assembled). (Only auto switch mounting brackets are assembled before shipped.)

+ D-C700/C80/H700I auto switches are assembled at the time of shipment.

1189

=
=

)
m
(=~}

=)
m
(]

D=
x

X
o

D-OJ
-XO



Series CM2Y

Integral clevis

Symbol
Double acting: Single rod, Rubber bumper

+

fo
Made to Order
(For details, refer to pages 2009 to 2152.)

Specifications
——
Bore size (mm) 20 [ 25 [ 32 [ 40
Action Double acting, Single rod
Piston speed 5 to 500 mm/s
Fluid Air
Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa

Ambient and fluid Without auto switch —10 to 70°C (with no freezing)

temperature With auto switch —10 to 60°C (with no freezing)

Lubrication Non-lube

Stroke length tolerance 5 mm

Cushion Rubber bumper

Allowable leal rate 0.5 L/min (ANR) or less
Minimum Operating Pressure

=
Unit: MPa

\ Bore size (mm) [ 20 [ 25 32 40
\ Minimum operating pressure \ 0.02

Symbol Specifications Mounting Bracket Part No.

-XALO | Change of rod end shape

-XC3 | Special port location ; Minimum Bore size (mm) Description (when ordering
-XC6 | Made of stainless steel Mounting bracket order 20 25 | 32 40 aminimum number)
-XC9 | Adjustable stroke retraction type Axial foot* 2 CM-L020B | CM-L032B | CM-L040B | Foot 2 pcs., Mounting nut 1 pc.
-XC13 | Auto switch rail mounting style Flange 1 CM-F020B | CM-F032B | CM-F040B | Flange 1 pc.

-XC20 | Head cover axial port Single clevis™* 1 CM-C020B | CM-C032B | CM-C040B | Single clevis 1 pc., Liner 3 pcs.

[A Precautions

e m e m————————
Be sure to read before handling. 1
Refer to front matter 39 for Safety |
1
1
1
1

Instructions and pages 3 to 12
for Actuator and Auto Switch

-y

Double clevis 1 pc., Liner 3 pcs.,

Double clevis (with pin) **, *** 1 . T
Clevis pin 1 pc., Retaining ring 2 pcs.

CM-D020B | CM-D032B | CM-D040B

Trunnion 1 pc.,

Trunnion (with nut) 1
Trunnion nut 1 pc.

CM-T020B | CM-T032B | CM-T040B

# When ordering foot brackets, order 2 pieces per cylinder unit.
=+ Three liners are included in the clevis bracket for adjusting an angle when mounting it.
=+ Clevis pins and retaining rings (cotter pins for 240) are included.

Mounting Bracket and Accessory

Precautions. A Standard Option
T | ccessory Single DNo(gls) Note 4)| Note 6)| PNotet7)
) Mounting | Rod end| Clevis o ickie oo anic| Clevis | Pivot | ZIVO
\ Handling Precautions Izt nut | onut | pin | ot |t bracket|bracket| " B!
. Basic style ® (1pc.) [J — o [ J —
AWarnlng Axial foot style ®(2) [J — [ [ J —
1. Do n_ot ’9‘“‘6 “‘? cover . e Rod side flange style | @ (1) [ — o [ — — —_
* When installing a cylinder or screwing a fitting into n
the port, the coupling portion of the cover may be Head side flange style| ® (1) L] — L] L] —
damaged if the cover rotates. Integral clevis style —Notel) | @ — ° ° °
. Single clevis style —Noel) | o — ° ° — ° °
ACaution L Double clevis style Note3)| _Note?) | @ o'l @ ° — — —
1. Be careful of the retaining ring to pop out. Rod sid - | eea)
* When replacing the rod seal, be careful of the o S'_e trunnl.on style| @( )N Ld — Ld Ld — ° —
retaining ring not to pop out while removing it. Head side trunnion style | @ (1)"*?| @ — [ ° —
Boss-cut basic style o (1) [ — (] [ —
Boss-cut flange style | @ (1) [ — [J [ — — —
Replacement Part: Rod Seal Boss-cut trunnion style | @ (1) ® — ° 0 —

Bore size
Part no.
(mm)
20 KB01587
25 KB01588
32 KB01590
40 KB01592

Grease Pack for Maintenance

Note 1) Mounting nuts are not attached to the integral clevis, single clevis and double clevis types.

Note 2) Trunnion nuts are mounted on the rod side trunnion style and head side trunnion style.

Note 3) Pins and retaining rings (cotter pins in case of 40) are packed with the double clevis
and double knuckle joint styles.

Note 4) Pins and retaining rings are packed with clevis brackets.

Note 5) Retaining rings (cotter pins for 940) are included in clevis pins.

Note 6) Pivot brackets come with pins and retaining rings.

Note 7) Pivot bracket pins come with retaining rings.

Standard Stroke

When only grease for maintenance is necessary,

please order by the following part numbers.

Grease pack part no.: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)

1190

‘ Bore size (mm) ‘ Standard stroke (mm) ‘
| 20, 25, 32, 40 \ 25, 50, 75, 100, 125, 150, 200, 250, 300 |

Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)
Note 2) As the stroke increases, more sliding resistance may result due to the deflection of the
piston rod and other factors. Take measures such as the installation of a guide.




Smooth Cylinder Series CMZY

Weight (kg)
Bore size (mm) 20 25 32 40 Calculation: (Example) CM2YL32-100
- @ Basic weight .44 (Foot style, 232)
Basic style 0.14 0.21 0.28 0.56  Additional weight .08/50 stroke
Axial foot style 0.29 0.37 0.44 0.83 © Cylinder stroke-- 00 stroke
Flange style 0.20 0.30 0.37 0.68 0.44+0.08 x 100/50 = 060 kg
Basic Clevis integrated style 0.12 0.19 0.27 0.52
weight Single clevis style 0.18 0.25 0.32 0.65
Double clevis style 0.19 0.27 0.33 0.69
Trunnion style 0.18 0.28 0.34 0.66
Boss-cut basic style 0.13 0.19 0.26 0.53
Boss-cut flange style 0.19 0.28 0.35 0.65
Boss-cut trunnion style 0.17 0.26 0.32 0.63
Additional weight per each 50 mm of stroke 0.04 0.06 0.08 0.13
) Clevis bracket (With pin) 0.07 0.07 0.14 0.14
gzgf{’; Single knuckle joint 0.06 0.06 0.06 0.23
Double knuckle joint (With pin) 0.07 0.07 0.07 0.20

Low Friction Cylinder Mounting

CM2Y| Mounting slyle” Bore size |-| Stroke |—X1 854

Same mounting specification as CM2Q

In order to adjust the mounting dimensions of the low friction cylinder (CM2Q), extend the longitudinal dimension (S, ZZ) by 3 mm.

Specifications

Cylinder bore size (mm) 20 ‘ 25 ‘ 32 ‘ 40
Action Double acting, Single rod
Direction of low friction Dual directions REA
Fluid Air
Proof pressure 1.05 MPa REB
P g pressure 0.7 MPa REC

# Low friction operates in dual directions.

Dimensions
——
| S + Stroke RzQ
ZZ + Stroke
Bore size (mm) S Y44
20 65 119
25 65 128
32 67 125
40 91 157
* Add 3 mm to S and ZZ dimensions of the double acting, single rod type on pages 1192 to 1196 for the dimensions for each mounting bracket other than the basic style. D-l:l

1191



Series CM2Y

Basic Style (B)
CM2YB‘ Bore size ‘—‘ Stroke ‘D

Width across flats B2 Hz G 2xP
Width across flats B1 H I /(Re, NPT, G)

on!

ef__- B

|

===
o
|

h"?‘ L Effective thread length

1% |15 i
Width across flats KA~ A~ K |_F.-N. il 2xFL
H | S + Stroke F
L ~ — ZZ + Stroke

Boss-cut
ZZ + Stroke o
(mm)
Bore size (mm)] A |AL | B: | B | D E F|FL| G| H | H |H I K | KA MM N | NA NN P|S |Zz
20 18 [155| 13 [ 26 | 8 | 20005 | 13 [105| 8 |41 | 5 8 |28 | 5 6 | M8x125| 15 | 24 |[M20x15| 4 | 62 | 116
25 22 (19517 [ 32 | 10 | 26905, | 13 [105| 8 | 45| 6 8 |335|55| 8 | M0x1.25 | 15 | 30 [ M26x1.5| /4 | 62 | 120
32 22 [195| 17 | 32 | 12 [ 26555 | 13 [105] 8 [ 45| 6 375| 55| 10 | M10x1.25 | 15 | 345 | M26x1.5| I | 64 [122
40 24 |21 |22 | 41 |14 | 328, | 16 |135| 11 | 50 | 8 | 10 [465| 7 | 12 | M14x15 |215|425| M32x2 | /; | 88 | 154
Boss-cut  (mm
Bore size (mm) zz
20 103
25 107
32 109
40 138
Axial Foot Style (L)
CM2YL‘ Bore size ‘—‘ Stroke ‘D
- H
A K FIG 2xP
Width across flats B1 [ AL . 2 (Re, NPT, G) IE'_.E. 2xNN
Width across flats KA Hi s "Iz . . (Effective thread length 2 x FL) _
al s TJ? A = A
BN '][ I L 2x0LC o
- Jl 4 x oLD 5
11— . |
. - N _[%Width across flats CINA N i s 113 mms
Width across flats B2 '_T N X S + Stroke X Y LX
=z ' LS -+ Stroke Lz
Z2Z + Stroke
+ Mounting bracket is shipped together with the product. (mm)
Bore size (mm)| A |AL| B |B1|Bz2|D | F |[FL| G |H |Hi|Hz| | | K |[KA|LC|LD|LH|LS|LT|LX|LZ| MM N [NA| NN P|S|X|Y|Z|ZZ
20 18 [155/40 (13|26 | 8 |13 |105| 8 |41|5 |8 |28|5 | 6 | 4 |68]25|102]3.2|40|55| MBx1.25 | 15|24 | M20x 15| /5 |62]20| 8 |21 |131
25 22(195|47|17|32|10|13[105| 8 |45| 6 | 8 |335|55| 8 | 4 |6.8/28|102|3.2|40|55| M0x125 | 15|30 | M26x15| 14| 62|20| 8 |25|135
32 22195|47|17|32|12|13|105| 8 |45| 6 | 8 |375/55|10| 4 | 6.8 28| 104[3.2{40|55| MI0x125 | 15 |345| M26x 15| 4| 64|20| 8 |25|137
40 24|21|54|22|41[14|16[135/11|50| 8 |10]465| 7 |12| 4 | 7 |30|134]|3.2|55|75| M14x15 |215]425| M32x 2 | /|88 |23| 10|27 |171

1192



Smooth Cylinder Series CMZY

Rod Side Flange Style (F)
CM2YF‘ Bore size ‘—‘ Stroke ‘D

4x oFD Width across flats B2
Mounfing hole 5 Width across flats Br  Hs G 2xNN
= 7 Y, —
M HE
Q2
E CiEaE fir—td| =
g »
2xoFD /| FX MM, (L : | _[Effectve thread length
Mountinghole™ | ™ —= <AL ||| Width across flats CINA 15 g
040 lounting hole FZ Width across | ATK | LFT ——N — 2xFL
20 to 632 flats KA Z~ TN 1
H S +Stroke F
M ZZ + Stroke
Boss-cut style
dE
ZZ + Stroke .
# Mounting bracket is shipped together with the product. (mm)
Bore size (mm)| A |AL| B |B:|B2|C:| D E F |FL|FD|FT|FX|FY|FZ| G |H |Hi|H:| | | K|KA| MM | N [NA| NN P|s|zZ|zz
20 18 [155(34 |13 |26 |30 | 8 | 2060ss |13 |105 7 | 4 |60|—|75| 8 |41| 5|8 |28| 5 | 6 |M8x1.25| 15|24 | M20x15 | 15| 62|37 |116
25 22 (195|140 |17 82|87 | 10|26 80ss [18[105]| 7 | 4 60| —|75| 8 |45| 6 | 8 |335|55| 8 |MI0x125| 15 |30 | M26x15 | ' 4| 62 | 41 120
32 22 (195|140 |17 32|87 | 12| 26805 [13[105]| 7 | 4 60| —|75| 8 |45| 6 | 8 |375]55 |10 | MI0x125| 15 345 | M26x15 | '5| 64 |41 [122
40 24121(52|22 |41 |473[14[32800 [16]135| 7 | 5 |66|36(82|11|50| 8 |10 |465| 7 |12 |M14x15|215(45|M32x2 | /|88 |45 |154
Boss-cut Style (mm)
Bore size (mm) zZ
20 103
25 107
32 109
40 138
REA
REC
RzQ
D-J
-Xd
z 1193
4 SNVC



Series CM2Y

Head Side Flange Style (G)
CM2YG\ Bore size \—\ Stroke \D

. Effective thread length 2 x FL Width fats B
I across flats B2
Width across flats B1 ~ H12 x NN G 2xP G W a, 2x BFP AxsED
Hi —\ e, NPT, G) [ [¢) Mounting hole W
T TTT l
- ==l | & _¢_ F/a\ _¥
g HE = ‘ _T in IOJ z
El L | b, i
L I s W i & PR
|15 | Width across flats CINA N L FEX |
F.LN N FZ 040
S + Stroke FT
Z + Stroke | 02010 032
ZZ + Stroke _ N _ __l
# Mounting bracket is shipped together with the product. (mm)
Boresize(mm) | A | AL | B B: | B. | C D E 7 FL | FD | FT | FX | FY | FZ | G H Hi H: 1
20 18 | 155 | 34 13 26 30 8 20 Goss 13 | 105 | 7 4 60 — 75 8 41 5 8 28
25 22 | 195 | 40 17 32 37 10 | 2660 | 18 |105| 7 4 60 = 75 8 45 6 8 |[335
32 22 119.5| 40 17 32 37 12 | 26 5o 18 |[105] 7 4 60 — 75 8 45 6 8 1875
40 24 21 52 22 41 [473] 14 | 32 Gow 16 | 135 7 5 66 36 82 11 50 8 10 | 46.5
(mm)
Bore size (mm) | K KA MM N NA NN P S z Y24
20 5 6 M8x1.25 | 15 24 | M20x1.5 7 62 | 107 | 116
25 5.5 8 M10x125 | 15 30 | M26x15 | Vs 62 | 111 | 120
32 5.5 10 | M10x1.25 | 15 | 345 | M26x15 | /& 64 | 113 | 122
40 7 12 | M14x15 | 21.5 | 425 | M32x2 7 88 | 143 | 154
Single Clevis Style (C)
—
CM2YC‘ Bore size ‘—‘ Stroke ‘D
Effective thread length FL 0CDuio’g™
Width across flats B1 ~_H1 NN G 2xP G
1\ 3
= A - (
2|laf - 4 5 g
w5, a: NS ’\* _E// =
- o |
MM/ AL | 15 | | cX33
Width across flats KA A K| F..N N Lu. |
S +Stroke o L
'_H—_" Z + Stroke — 4_&2
| ZZ + Stroke S
mm)
Bore size (mm)| A |AL|B: | Cl |[CD|CX| D E FIFL|G|H|H || | K|KAIL MM N [NA| NN P|RR| S |U |Z  zz
20 18 15513 |24 | 9 | 10| 8 | 2080 [ 13105 8 [41| 5 |28| 5 | 6 |30 | M8x1.25| 15 |24 |M20x15| V5 | 9 |62 | 14 |133] 142
25 22/195|17 (30| 9 | 10|10 | 26 8e:a | 13 [105| 8 |45 | 6 |335|5.5| 8 | 30 | MI0x1.25| 15 | 30 [ M26x 15| V6 | 9 | 62 | 14 |137 | 146
32 2211951730 9 |10 |12 | 26 80 | 13 |105| 8 | 45| 6 |375]5.5| 10 | 30 | M10x1.25 | 15 345 | M26x15| 5 | 9 | 64 | 14 | 139|148
40 24|21)22[38|10| 15|14 | 32 §u | 16 [135|11 |50 | 8 |465| 7 |12 |39 | M14x15| 215 |425|M32x2| 4 | 11|88 | 18 | 177|188
1194

o
3



Smooth Cylinder Series CM2Y

Double Clevis Style (D)
CM2YD\ Bore size \—\ Stroke \D

Effective thread length FL oCD hole H10 §**

-
Width across flats B1  H1 NN G 2xP G Axis d9 5678
™ _'\ (Rc, NPT, G)
] 13

H §

oEns

|
wn/ A || oS N
Width across flats KA A K _F..N
L H J S + Stroke I L
» _Z-+Stroke RR
~ ZZ + Stroke

(mm)

Bore size (mm)| A |AL|B: |CD|CI |CL|CX|CZ| D E FIFLIG|H|H || |K|KA| L MM N [NA| NN P|RR|S|U|Z|z2Z
20 18165/ 13| 9 |24|25]10[19| 8 | 2080s [13]105| 8 |41 5 |28| 5 | 6 |30 | M8x1.25| 15|24 | M20x1.5 | V4| 9 | 62|14 [133|142

25 2219517 9 [30[25|10| 19|10 | 2680 | 13105 8 [45| 6 [335(5.5| 8 |30 | M10x1.25 | 15|30 | M26x1.5 | V5 | 9 |62 14 | 137|146

32 2219517 9 [30[25|10| 19|12 | 26 8w | 13|105| 8 |45| 6 [375(5.5( 10|30 | MI0x1.25 | 15|345| M26x1.5 | /5 | 9 | 64| 14 139|148

40 2421|2210 |38 |412|15]30 |14 | 32 8ces |16 |135| 11|50 | 8 |465| 7 |12 |39 | M14x1.5|215]|425| M32x 2 | /4 | 11|88 18177188

+ Clevis pin and snap ring (cotter pin for bore size 040) are shipped together.

Rod Side Trunnion Style (U)
CM2YU‘ Bore size ‘—‘ Stroke ‘D

Width across flats B2

& —, G 2xP G 2xNN
[ Width across flats B H1 (Rc, NPT, G)
= | W HEgE] ™ f
= [HE L E
= | I
of TR — o
|
i) | 1
MM 1 A | Effective thread length
AL Width flats CTNA |
Width across flats KA "_A" TT! D eciose fae 1A 15 2xFL
7 e N
e S + Stroke F
ZZ + Stroke - N REA
Boss-cut style REB
— REC
B
CHIBLE
ZZ + Stroke
PR
# Mounting bracket is shipped together with the product.
Bore size (mm)| A AL | B: B: D E F FL G H H: | K KA MM N NA NN
20 18 [155] 13 | 26 | 8 | 20 8 | 13 105 8 | 41 | 5 | 28 | 5 | 6 |mexi25] 15 | 24 |me0x15] v |RHC
25 22 [195]| 17 32 10 | 26 80 | 13 [105| 8 45 6 |335| 55 8 | MI0x125| 15 30 |M26x15| Y6
32 22 [195] 17 [ 32 [ 12 | 268w | 13 [105] 8 | 45 | 6 [37.5[ 55 | 10 [miox125] 15 [345 |m26x15] »o  |RZQ
40 24 21 22 41 14 | 32800 | 16 | 135 | 11 50 8 |465| 7 12 | M14x1.5|21.5 | 425 | M32x2 | V4
(mm) Boss-cut Style (mm)
Bore size (mm)| S TD | TT | TX | TY | TZ z zz Bore size (mm)|  ZZ
20 62 8 10 32 32 52 36 | 116 20 103
25 62 9 10 40 40 60 40 | 120 25 107
32 64 9 10 40 40 60 40 | 122 32 109
40 88 10 11 53 53 77 | 445 | 154 40 138
D-OJ
-Xd

o
3



Series CM2Y

Head Side Trunnion Style (T)

CM2YT\ Bore size \—\ Stroke \D

Effective thread length 2 x FL

2xNN G 2xP
Width across flats B1 _H1 |-| ~"(Rc, NPT, G)

Width across flats B2

—

ol
W - -
o
|
M/ AL || | 1.5\ Width across fiats INA
Width across flats KA A F_N T
:___415 S + Stroke
__Z+Stroke
ZZ + Stroke o
* Mounting bracket is shipped together with the product. (mm)
Boresize(mm)] A | AL | B: B: D E F FL | G H H: | K | KA MM N | NA NN P
20 18 | 155| 13 | 26 8 | 2080 | 13 |105| 8 41 5 28 5 6 | M8x125| 15 | 24 | M20x15 | 4
25 22 |195| 17 | 32 | 10 | 2656 | 13 |105| 8 45 6 |335]| 55 8 | M0x125| 15 | 30 | M26x15 | 4
32 22 |195]| 17 32 12 | 2680 183 [ 105 8 45 6 375 | 55 10 | M10x125 | 15 | 34.5 | M26x15 | "4
40 24 | 21 | 22 | 4 14 | 3280 | 16 | 135 11 50 8 |465]| 7 12 | M14x15 | 21.5 | 425 | M32x2 | '4
(mm)
Bore size (mm)| S TD | TT | TX | TY | TZ z zz
20 62 8 10 | 32 | 32 | 52 | 108 | 118
25 62 9 10 | 40 | 40 | 60 | 112 | 122
32 64 9 10 | 40 | 40 | 60 | 114 | 124
40 88 | 10 | 11 53 | 53 | 77 |1435| 154
Clevis Integrated Style (E)
=
CM2YE‘ Bore size ‘—‘ Stroke ‘D
LZ + Stroke
ZZ + Stroke o
Z + Stroke 1 LP
H S + Stroke L_RFL{
K N N | r
iR | T 2xP___ | oDt |
" Hy “| | 15| (Re, NPT, G)
L Tt
J gL
uugl%l i3 —
/ ‘— ' 5
2xoLD -
Width across flats NN !
Width across flats KA Effective thread length FL ‘:‘_} '
G YAN
r Ly °
Refer to page 1198 for details
of clevis pivot bracket.
(mm)
Boresize(mm)) A | AL | B: |[CD| ClI [CX | D E F|FL| G| H | H 1 K |[KA| L MM N | NA NN
20 18 [155] 13 | 8 | 20 | 12 | 8 | 2080 | 13 |105| 8 | 41 | 6 |28 | 5 6 | 12 |[M8x1.25| 15 | 24 | M20x 1.5
25 22 [195( 17 | 8 [ 22 | 12 | 10 | 2680 | 13 |105| 8 | 45 | 6 [335|55| 8 | 12 | M10x125 | 15 | 30 | M26x 1.5
32 22 [19.5( 17 | 10 [ 27 | 20 | 12 | 2680 | 13 |10.5| 8 | 45 | 6 |375|55 | 10 | 15 | M10x1.25 | 15 | 345| M26x 1.5
40 24 | 21 | 22 | 10 | 33 | 20 | 14 [ 32800 | 16 [135| 11 | 50 | 8 |465| 7 | 12 | 15 | M14x 1.5 |215|425]| M32x2
(mm)
Boresize(mm) P | RR | S u Z |2z
20 's | 9 | 62 [11.5[115) 124
25 s | 9 | 62 |[11.5| 119|128
32 Vs | 12 | 64 |14.5| 124 | 136
40 "4 | 12 | 88 |14.5| 153 | 165
1196

o
3



Series CM2Y

Accessory Bracket Dimensions

Single Knuckle Joint

Single Knuckle Joint

1-020B, 032B  Material: Rolled steel

1-040B  Material: Free cutting sulfur steel

oNDH10 j NDx
G v )
~ oNDH10 w -\ e
NX1 i TH j s | : J/
o T e A
- 1= r 1 U1
.L\w e P N
AU P ——
L A ——I (mm)
Boresize | A | H Part no. |*2cebeboe) A | A1|E1|Li| MM | NDwio| NX |R1| Ut
20 18 | 41 | M8x1.25| 9 5| 9 5, 14 | 10 | 11 | 66 1-020B | 20 | 4616|2036 |M8x1.25| 9 %™ | 9 5;|10]| 14
25,32 | 22 | 45 | M10x1.25 | 9 *0*°| 9 31| 14 | 10 | 14 | 69 1-032B | 25,32 | 48| 18|20 |38 | Mi0x125| 9 0™ | 9 51|10 14
40 24 | 50 | M14x15 | 12 9| 16 33| 20 | 14 | 13 | 92 1-040B 40 69 | 22 |24 | 55 | M14x1.5|12°3°° | 16 53 | 155 20
Double Knuckle Joint
Y (Max.)
oND hole H10 MM
AXis d9 T w-——l;‘
Boresize| A | H | L MM ND |[NXa |R2 [U2 | Y | Z
20 18 | 41| 25 [ M8x1.25 9 9 %310 | 14 | 11 | 66
25,32 | 22 | 45 | 25 | M10x1.25 9 9 %3/ 10| 14| 14| 69
40 24 | 50 | 497 | M14x1.5 12 |16 57| 13 | 25 | 13 | 92
Double Knuckle Joint
Y-020B, Y-032B Material: Rolled steel Y-040B Material: Cast iron
; Q%"“ Lo
I
. — ’ L
oND hole H10_
MM oND hole H10 M x5 9]
\ T Adsdo - 1
m}‘ 3 | imrer] o i 1
g == u 1
LS. -
] -
—4 (mm)
Partno. |APPicabiebore AT AT E; [ L[ Li| MM ND | NX [ NZ | Ri | Ui | ‘“pBicabiepi | Reaninging iz
Y-020B 20 46 | 16 | 20| 25 | 36 | M8x 1.25 9 983118 ] 5 14 CDP-1  [Type C 9 for axis
Y-032B 25, 32 48 | 18 | 20 | 25 | 38 | M10x1.25 9 9 %3] 18 14 CDP-1_ [Type C 9 for axis
Y-040B 40 68 | 22 | 24 | 49.7| 55 | M14x 1.5 12 1635|388 | 13 | 25 CDP-3 23x18L
# Clevis pin and retaining ring (cotter pin for 040) are attached.
Double Clevis Pinateriai: Carbon steel (mm) Double Knuckle Pinmaterial: Carbon steel (mm)
Bore size: 920, 925, 332 Bore size: 640 Bore size: 520, 925, 332 Bore size: 040
CDP-1 CDP-2 CDP-1 CDP-3
2
i 2x03 g 2x83
i 2 /Thioughhole 28 3 Thoughhoe 88
e . A —Js°
— fr—f 3 | g & — 1%
175|192 || 175 _la a2 | s 175 192 175 a4 a7 | |
115 A 25 "X 115 a2 | 146 A~ 25 "4 115 L 497 |
Retaining ring: Type C9 for axis Cotter pin Retaining ring: Type C9 for axis Cotter pin
e3x18L e3x18L
* Retaining rings (cotter pins for 40) are included. * Retaining rings (cotter pins for 40) are included.
1197

O

SVC

COX

Mo

D ||}
N | X
oo



Series CM2Y

Rod End Nut

Material: Carbon steel

(mm)
Part no. [*oicebeboe) B | C | D d H
NT-02 20 13 | 15.0 [12.5| M8x 1.25
NT-03 | 25,32 | 17 |19.6 [ 165 | Mi0x1.25
NT-04 40 22 | 254|210 | M14x15

®|o |0

Mounting Nut

Material: Carbon steel

a0, d
X P
9 Lito
3 ._ |
IHL

Clevis Pivot Bracket (For CM2E)

Material: Rolled steel plate

RLR oLC hole 133

- Iy is 0040
Axis 632

(mm)

Part no. [Aicabeboe) | || ¢ |LD|LE | LF |LG |LH [LR|LT|LX|LY |LV |Aelcablepin
g size (mm) part no.

CM-E020B| 20,25 |245| 8 |6.8|22| 15|30 |30 | 10 |3.2| 12 | 59 |184| CD-S02
CM-E032B| 32,40 |34 |10 | 9 | 25| 15|40 |40 |13 | 4 | 20| 75|28 | CD-S03

Note 1) Clevis bracket pins and retaining rings are included.
Note 2) It cannot be used for single clevis style (CM2C) and double clevis style (CM2D).

Clevis Pin (For CM2E)

Part no. |eiebetoe) B | C | D d H
SN-020B| 20 26 | 30 |255|M20x15| 8
SN-032B| 25,32 | 32 | 37 [31.5|M26x15| 8
SN-040B| 40 | 41 |47.3|405|M32x2.0] 10

Trunnion Nut
—
H_ Material: Carbon steel
30°.
v
T
[$]f=]
e

Part no. |¥Eiebetoe) B | C | D d H
TN-020B 20 26 | 28 |255| M20x15 | 10
TN-032B | 25,32 | 32 | 34 |315| M26x15 | 10
TN-040B 40 41| 45 [405|M32x2]| 10

Material: Carbon steel

o 2!
]
m L | m
t & f}\ t
(mm)
Pariney App_\icablebcre Dus d L I m t Applicable retaining
size (mm) ring part no.
CD-S02 | 20,25 8567 7.6 245 | 195 1.6 0.9 | Type C 8 for axis
CD-S03 | 32,40 102357 9.6 34 29 1.35 | 1.15 |Type C 10 for axis

Note) Retaining rings are included.

Refer to page 2048 (—XB12: External stainless steel cylinder) for stainless steel mounting brackets and accessories (some are not applicable.)

Refer to Best Pneumatics No.2 for pivot brackets.

1198



Series CM2Y

Auto Switch Mounting 1

Auto Switch Proper Mounting Position (Detection at Stroke End) and Its Mounting Height

Reed auto switch

D-A90]

%@E\%%:%iﬁ\ﬁﬂ

A ‘245‘
(22)

(): Values for D-A96
A and B are the dimensions from the end of the head
cover/rod cover to the end of the auto switch.

Auto switch

ﬁ;?“‘f:%lﬂ

4L 33

Auto swnch

G 1/2 (Applicable cable 0.0.

Auto switch
5

e

B
G 1/2 (Applicable cable 0.0,
068100115)

Auto switch
ulepaid

Solid state auto switch

D-M9C
D-M9CIW
D-M9OA

(24)

(): Values for D-M9CIA
A and B are the dimensions from the end of the head cover/rod cover to the
end of the auto switch.

allz] Bl

D-H7C0/H70OW/H7NF

1199

REA

(=8 0 (| 0
Hmm
=< IKxBin-

o
[
>

=)
N
o



Series CM2Y
Auto Switch Mounting 2

Auto Switch Proper Mounting Position (Detection at Stroke End) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
Auto switch
mocel D-C70] D-A3CJA D-H70]
-C7| - -H7|
D-M9[ (V)
' D-B5[] D-C80 D-G39A D-H7C
ERen) B_Mggx"(‘v")) D-B64 D-C73C DaES oW D-K39A D-H7OW Do
D-C8oC D-A44A D-H7NF
Bore size
(mm) A B A B A B A B A B A B A B A B
20 6.5 5.5 10.5 9.5 1 0 7 6 4 3 0.5 0 6 5 25 15
25 6.5 515) 10.5 9.5 1 0 7 6 4 3 0.5 0 6 5 25 i
32 7.5 6.5 1.5 10.5 2 1 8 7 5 4 1.5 0.5 7 6 3.5 25
40 135 11.5 17.5 15.5 7 6 13 12 10 9| 6.5 5.5 12 1 8.5 7.5
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.
Auto Switch Mounting Height (mm)
Auto switch D-M9oC]
model| p-aorv | D-BSCI | B-MSHY
D-molv | DB64 | b-ast™ | pcyzc | D-ASA
D-B59W D-C701 D-G39A D-A44A
D-M9IwWV D-C80 D-C80C
D-MOCIAV D-G5NT D-H7L1 D-K39A
D-H7C D-H7OW
Bore size D-H7NF
(mm) Hs Hs Hs Hs Hs Hs
20 235 255 225 25 60 69.5
25 26 28 25 27.5 62.5 72
32 29.5 31.5 28.5 31 66 75.5
40 335 35.5 325 35 70 79.5

1200



Auto Switch Mounting Series CM2 Y

Minimum Auto Switch Mounting Stroke

n: No. of auto switch (mm)

No. of auto switch mounted
Auto switch model 1pe. 2 pes. n pcs.
Different surfaces Same surface Different surfaces Same surface
n-2 -2
D-M9] 5 20 55 20+35 =5 55 +35 (n'2)
(n=2, 4, 6...) Nore 3 (n=2,3,4,5)
(n-2) 55 + 35 (n-2,
D-MOIW 10 20 55 20+35 =5 +35(n2)
(n=2, 4, 6...) Note 3) (n=2, 3,4, 5)
n-2 60 + 35 (n-2,
D-M9[IA 10 25 60 25+35 +35 (n-2)
(n=2, 4, 6...) Note 3) (n=2,3,4,5)
n-2 -2
D-AoC] 5 15 50 15+35 =3 50+35(n2)
(n=2, 4, 6-..) Note 3) (n=2, 3,4, 5-)
(n-2) 35 + 35 (n-2,
D-M9LIV 5 20 35 20+35 =5 +35 n2)
(n=2, 4, 6.-) Note 3) (n=2, 3,4,5-)
(n-2) 2 -2
D-A9CIV 5 15 25 15+35 - 5+ 35 (n2)
(n=2, 4, 6-..) Note 3) (n=2, 3,4, 5-)
D-MOIWV 10 20 35 20 + 35 (N2 35 + 35 (n-2)
D-M9LIAV (n=2, 4, 6. fBte) (n=2,3,4,5-)
n-2 -
D-C70 10 15 50 15+ 45 LTL 50 + 45 (n-2)
D-C80 (n=2, 4, 6...) Note 3) (n=2, 3, 4, 5-)
D-H7(] n-2 60 + 45 (n-2)
D-H7O0W 10 15 60 15445 =5 +45 (n2)
D-H7NF (n=2, 4, 6---) Note 3 (n=2,3,4,5-)
D-C73C (n-2 65 + 50 (n-2
D-C80C 10 15 65 15+50 ~5 +50 (n-2)
D-H7C (n=2, 4, 6---) Note 3) (n=2, 3,4, 5-)
D-B5(1/B64 10 15 75 15 4+ 50 (02) 75 + 55 (n-2)
2
D-G5NT (n=2, 4, 6.--) Note 3) (n=2, 3, 4, 5---)
n-2 -
D-B59W 15 20 75 20+50 75 7555 (n2)
(n=2, 4, 6...) Note 3) (n=2,3,4,5)
D-A30JA/G39A 10 s 100 35 + 30 (n-2) 100 + 100 (n-2)
D-K39A/A44A (n=2, 3, 4,5 (n=2, 3, 4, 5.

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

Note 1) Auto switch mounting

Auto switch model

With 2 auto switches

Different surfaces

Same surface

15
e

T
==

/ B

Correct auto switch mounting position is 3.5 mm from the back
face of the switch holder.

The auto switch is mounted by slightly displacing it in a direction
(cylinder tube circumferential exterior) so that the auto switch and
lead wire do not interfere with each other.

X ||}
m|m
W | >

REC

D-M90] Note 2) Note 2)
D-MOOIW Less than 20 stroke Note Less than 55 stroke Note
D-M9TIA Less than 25 stroke Note2) Less than 60 stroke Note 2)
D-A90] — Less than 50 stroke Note2) RHC
Note 2) Minimum stroke for auto switch mounting in styles other than those in Note 1.
Operating Range RzQ
(mm) (mm)
. Bore size (mm) . Bore size (mm)
Auto switch model 20 | 25 | 32 | 40 Auto switch model 20 | 25 | 32 | 40
D-A9C](V) 6 6 6 6 D-B59W 12 12 13 13
D-M9C](V) D-H7C/H7OW 4 4 45| 5
D-MOLIW(V) 35| 3 35| 3 D-G5NT/H7NF i
D-M9CIA(V) D-H7C 7 85| 9 |10
D-C7[C1/C80 7 8 8 8 D-G39A/K39A 8 9 9 9
D-C73C/C80C
D-B5[/B64
D-A3CIA/A44A s ]8f°]° -0
= Since this is a guideline including hysteresis, not meant to be guaranteed. (Assuming approximately +30% dispersion)
There may be the case it will vary substantially depending on an ambient environment.
Note) D-A90] and D-A90JV cannot be mounted on 850. -x|:|

1201



Series CM2Y
Auto Switch Mounting 3

Auto Switch Mounting Bracket Part No.

. Bore size (mm)
Auto switch model
20 25 32 40

D-MoCI (V) Note 1) Note 1) Note 1) Note 1)
D-M9OIW (V) BM5-020 BM5-025 BM5-032 BMS5-040
D-A9C (V)

Note 2) Note 2) Note 2) Note 2)
Do A) BM5-020S BM5-0255 BM5-032S BM5-040S
D-C70/C80
D-C73C/C80C
D-H70) BM2-020A BM2-025A BM2-032A BM2-040A
D-H7OW
D-H7NF
D-B501/B64
D-B59W BA2-020 BA2-025 BA2-032 BA2-040
D-G5NT
D-A3CIA/A44A
D-G39A/K39A BM3-020 BM3-025 BM3-032 BM3-040

Note 1) Set part number which includes the auto switch mounting band (BM2-0OOOA) and the
holder kit (BJ5-1/Switch bracket: Transparent).
Since the switch bracket (made from nylon) is affected in an environment where alcohol,
chloroform, methylamines, hydrochloric acid or sulfuric acid is splashed over, so it
cannot be used. Please consult SMC regarding other chemicals.

Note 2) Set part number which includes the auto switch mounting band (BM2-0OOAS) and the
holder kit (BJ4-1/Switch bracket: White).

Note 3) For the D-M9UJA (V) type auto switch, do not install the switch bracket on the indicator
light.

[Stainless Steel Mounting Screw Kit] a
The following set of stainless steel mounting screws is available. Use them in Swi
N ) . witch bracket
accordance with the operating environment. (Resin)
(Since auto switch brackets are not included, order them separately.)
BBA4: For D-C7/C8/H7 types
Note 4) Refer to page 1990 for the details of BBA4 screws.
The above stainless steel screws are used when a cylinder is shipped with
D-H7BA type auto switches.
When only a switch is shipped independently, BBA4 screws are attached.

Auto switch
b

(DBJOI-1: A set of a and b in the figure.
(2BM2-00CA (S): Aset of c and d in the
figure.
Band (c) is mounted so that the
projected part is on the internal side
(contact side with the tube).
BJ4-1 (Switch bracket: White)
BJ5-1 (Switch bracket: Transparent)

c
Auto switch mounting band

P mmm e e e e - -

Other than the applicable auto switches listed in “How to Order”, the following auto switches can be mounted.
For detailed specifications, refer to pages 1893 to 2007.

Auto switch type Model Electrical entry (Direction) Features
D-H7A1, H7A2, H7B —
. D-H7NW, H7PW, H7BW Diagnostic indication (2-color indication)
Solid state - ——
D-H7BA . Water resistant (2-color indication)
Grommet (In-line)
D-G5NT With timer
D-B53, C73, C76 —
Reed
D-C80 Without indicator light

+ With pre-wired connector is available for solid state auto switches. For details, refer to pages 1960 and 1961.
* Normally closed (NC = b contact), solid state auto switches (D-F9G, F9H type) are also available. For details, refer to page 1911.
+ Wide range detection type, solid state auto switches (D-GNB type) are also available. Refer to page 1953 for details.

e |

[memmm———m—————

. L I L L |

1202





